PROFESSIONAL EXAMINATION BOARD

?  Professional Nayab Tahsildar Departmental Recruitment
pb@xqminqtjon Test (Re Exam) — 2018
6 board 15th Sep 2018 09:00AM

Topic:- General Knowledge

1) Union Minister of Coal, Railways, Finance and Corporate Affairs launched a Mobile
Application developed by CMPDI and BISAG at a ceremony at New Delhi is called as
/

I, Yo1d, fad 3k SiuRe il & T° 50 7 73 feweh # e YHRIE & ERE CMPDI
3R BISAG gRT fawRid te Magd UfRrebeH dal-g frar 8, foraeT am &:

1. Khan Suraksha / AT &[T
2. Khan Prahari / T4 Uﬂﬁ

3. Khan Nigam / dI g

4. Khan Rakshak / T &P

Correct Answer :-

o Khan Prahari / 9l Q—G'ﬂ

2) The Ministry responsible for coordination, appraisal and approval of urban transport
matters including metro rail projects at the Central Level is: /

P TR W Al ¥ ufvaeneit afgd TR uRkas amvdl & 9, Geaie SR
3 & T SRerlt warerd 3:

1. Ministry of Railways /Ad HATT

2. Ministry of Water Resources / STd] 1Y HAT

3. Ministry of Power / ﬁﬂ:ﬂﬁw

4, Ministry of Housing and Urban Affairs / 3{TdT{- Qa %ﬁ mw

Correct Answer :-

« Ministry of Housing and Urban Affairs / 3{TaT- Ud SRR HIT T



3) CANCELLED

Which organisation conducts the survey and documents the Tribal art and Cultural traditions in
Madhya Pradesh? /

DI AT WS AHAUS W ST FeT 3R Jiep i WURTSH HT T 3R Xt
(STIHEH) TN Hear 82

1. Kala Parishad / el tlﬂ'ﬁl_c{
2. Lok Kala Parishad / Tl &l tlﬁ'ﬁl_c‘{

3. Bharat Bhawan / HIRd Hd-

4, Kalidas Academy / PTG 3fhIGH!

Correct Answer :-

. Lok Kala Parishad / @ld ol W

4) In 1897, the Birsa Movement supporters raised which colour flag as a symbol of Birsa Raj? /

1897 H, faa siigia & IuYdH A faRAT IS & Ui & U | fory 31 &7 SisT dgvmn
1. Green / Bx]
2. White / WG

3. Brown / {1
4. Blue / #Tel

Correct Answer :-

« White / Jhg

5) Which of the following is a musical instrument with small metal jinglers attached to wooden
plates? /

fFrafafad 7 3 $F a5t & wel A 93 UTg F Bl-Bie Riffar@ @Tse Ig H31 a1a)
o U Wi aTee @2

1. Ektara / 9P dRT
2. Chang / TN

3. Dhaf / YTth



4. Khartaal / @G3dldd

Correct Answer :-

o Khartaal / Wdld

6) Which of the following dances is not performed during the Khajuraho Dance Festival? /
WERTE! T Helerd & SR Frufif@d & & #1991 7o 78 fvar wimar 22

1. Kathak / [

2. Matki / HEabl

3. Odissi / 3Nl

4. Kuchipudi / pfaget

Correct Answer :-

. Matki / AC®H]

7) On which date is the ‘Shaheed Saman Diwas’ observed every year across Madhya Pradesh to
honor families of Military Martyrs? /

A U & Y WEIGI P URAR] BT G H1 & o yds v xrdiec I faw fea
AR B HATT ST 82

1. 14t August / 14 3T
2. 16" August / 16 3R
3. 26! January / 26 LG
4. 15 August / 15 ST

Correct Answer :-

o 14M August / 14 3T

8) The Depressed Classes Association by Dr. B.R. Ambedkar was established in which of the
following years ? /

S1. §1.3MR. s HR gRT AMva o Tg &t iy fAe=fefea § 9 foa ad 4 g5 4

1. 1907



2. 1919
3. 1930

4. 1942

Correct Answer :-

- 1930

9) The Indian newspaper which turned overnight into an English newspaper to escape the
Vernacular Press Act was i

YR GHERYT S gATageR U Tae I 994 & 1 Iai-31d il THRRYA § 96 1T
Yr:

1. Amrita Bazar Patrika / S{HdT &G} giAPT
2. Maharatta / HeIRdI

3. Sudharak / JURP

4. The Bengalee Banerjea / & CUINIEESI

Correct Answer :-

« Amrita Bazar Patrika / 3{Hdl ST9IR U]

10) Under the Madhya Pradesh State, who among the following individuals are eligible for the
pension of Indira Gandhi National Old Age Pension scheme? /

A Yo I & Sfata, Fraffea saferal 9 @ o1 s midh wfia gamawn 924 die
o izF & Rig = 32

1. Individuals aged above 70 years and below poverty line / 70 HTcT T 3f¥p IY P 3R Wt ¥\
i & Afdal o ferg

2. Individuals aged above 60 years / 60 HIcT ¥ 31f¥® 39 & Hfdadl & ferg

3. Individuals aged above 60 years and below poverty line / 60 HIcl T 3 I &F R e @
e & safaadl & forg

4, Individuals aged above 50 years / 50 "¢l ¥ 31w Y & fgadl b fam

Correct Answer :-

« Individuals aged above 60 years and below poverty line / 60 HI¢T T 31 I & R WK @ I
e & safaadl & forw



11) According to the Madhya Pradesh Budget Estimate 2018-19, of Revenue Receipts is
obtained by the State from the centre in the form of grants and it’s share in taxes. /

AT YR Toie 3T 2018-19 & IR, ARG WA BT 6T §RT 3G & U
Fg 9§ Ut fHar Srar @ iR H3) A g9 g giar g

1. 45%
2. 40%
3. 58%
4. 60%

Correct Answer :-

e 58%

12) According to Madhya Pradesh Budget Estimate 2018-19, which of the following witnessed a
negative growth in year 2016-17? /

Y YR goI¢ 3TH 2018-19 & IR, T4 2016-17 H FAufaf@a # A fra e o
TPRTAD g ! T2

1. Services sector / JdT éﬂ?f

2. Manufacturing sector / REIEE]

3. The Gross State Domestic Product (GSDP) / b ¢l X1y ‘d\icj\dd-{ld (GSDP)

4. Agriculture sector / w &l

Correct Answer :-

« Services sector / JdT 5‘3_?[

13) During the President’s Rule in Madhya Pradesh, the role of is similar to the role of
council of ministers of the Chief Minister of the State in discharging of the constitutional
obligations. /

nmu%wﬁguﬁw%aﬂq, 3t Yt GauHe il @) Adga A Tsa &
gt & wEH ufvug 3 Yfrer & a8l

1. the Governor / XIsIUTT
2. the District Collector / T FHalae
3. the Advisors / HATgh R



4, the Supreme Court Judge / ﬁ?ﬁﬂ PIC & g

Correct Answer :-

« the Advisors / HAleRh X

14) Andaman Islands in the north and Nicobar Islands in the south are separated by: /
SR UM v 3R Efor & FrlaR i frer & gr1 e 5w §:

1. Nine degree channel / 9 IEPIECK

2. Eleven degree channel / 11 &t 99

3. Ten degree channel / 10 EPIERN

4, Palk strait / Ul SI(fSHHY

Correct Answer :-

 Ten degree channel / 10 EPIERN]

15) Which corporate house has the largest land holding in Mumbai? /
Yo H qad 937 YfH 4R (oIS BT fha dRuive 180 & Uy 82
1. Godrej Industries Pvt. Ltd. / ‘I\IQ\Q\TI és«flwl Hlsac fofies

2. Reliance Industries / @AY 5'8@\_?[

3. Larsen and Toubro / aﬁ QTS' g@ﬁ

4, Bombay Dyeing / S SIED

Correct Answer :-

» Godrej Industries Pvt. Ltd. / ‘ilai\_rl Wﬁmm

16) Who was the first person to be selected as a Satyagrahi followed by Jawaharlal Nehru for
‘Individual Satyagraha’ by Mahatma Gandhi in the year 1940? /

1940 ¥ Tt M gRT 'AfFITa TARIE' & AT Sargrard Ag gR1 3THA H31 & forg
A8 & &4 § g T aTel Ugd fad Hi- A2

1. Subhas Chandra Bose / gHTY Tg CI5|

2. Brahma Dutt / &1 ad



3. Acharya Vinoba Bhave / A fa=raT urd
4. Acharya Kriplani / 3T Wf:ﬂ

Correct Answer :-

« Acharya Vinoba Bhave / T fareT 4id

Topic:- General Hindi

1) FgH & g wdt Wiy fodg #1 gfw)
1.+

2. Ga+oH

3. qS+4H

4. gaa+yH

Correct Answer :-

. Fa+ud

2) ‘gSM & forg wgl |@ftr fasde ot gfw
1. QTC+3{TT

2. R[d+3THq

3. YC+3H[H4

4. Y+3{-

Correct Answer :-

3) §Y T 810 AR g8 Franl - A g A o149 91 PR 87
1. faRIvifad srcdR

2. UG DR

3. YifdH SEDdR

4. Y DR



Correct Answer :-

4) Fpd - PTG U FF AT HTATR?
1. g

2. Wpd

3. el

4. Ffspd

Correct Answer :-

5) R -FIysTuffEdI s AT
1. SIHTS
2. feprss
e CAS
4. ]CP3,

Correct Answer :-

6) g & oTd aTa- o - geTar &1 o g e A G Sl A g2
1. N URTI & §1¢ 33l e

2. QX URTG & 1Y 381 9 AT

3. R UREd o 1Y 33T AT

4. R YR & UG T 35T AT

Correct Answer :-

. QX URE & 3HTT H 3BT T

7) Has GaT - geTax o1 i P s d A v ar g



1. GITer=T SR
2. Xl

3. UG Udhe gl
4. faufr d us

Correct Answer :-

. UG UHC BHI

8) I &1 9 U | B 1 9 faaw 2reg 82
1. RId

2. 91d

3. 91

4. 1

Correct Answer :-

9) I@Y BT 9 & A B w1 9! faew Tt 32
1. DY

2. IR

3. Y

4. YPY

Correct Answer :-

10) ‘gfafer & fw & 3 &9 a1 gum 82
1. 3TATHIG A

2. Sgsiifg TH™

3. HHYRY THN

4. fg 9O



Correct Answer :-

. UG FH™

11) qgoar ¥ A E A o I auN 32
1. §gsilfe U™

2. HHYRY JAN

3. TSN JAN

4. g 9

Correct Answer :-

. HHYRY JHY

12) o STMT A s g P A A P AT E?
1. Har

2. Ferarg

3. g

4. T

Correct Answer :-

13) grft T Areft 7 9 9 X 7 17 71 B7q Bt 19 fadg |

daaAuE A A AT s e S Rd - At d s o e
1. %

2. QA ™

3. BRI X

4, YOS X4

Correct Answer :-

. XA



%4) o uq acrs g3 fog & 11 B foag o0 og fafy amm1 1 - d e 3 9 319 91 seier

1. faUTaT 3R

2. Topifad IDpR

3. ST ABR

4. foRiwifad sd®R

Correct Answer :-

. fquTaT SR

Topic:- General English

1) Choose the option with the appropriate sentence structure
1. Of the mountain the summit was hidden in the cloud.
2. The summit of the mountain was hidden in the cloud.
3. The summit was hidden in the cloud of the mountain.
4. In the cloud hidden the summit of the mountain was.

Correct Answer :-

o The summit of the mountain was hidden in the cloud.

2) Choose the appropriate form of the verbs to complete the given sentence.

I___ that you appear for the exam. I also ____ you to prepare well for it.
1. want, wants

2. want, suggests

3. suggest, want

4. suggests, suggest

Correct Answer :-

e suggest, want

3) Choose the option that rephrases the given sentence using the appropriate modal.



Possibly she isn’t the person we are looking for.
1. She ought not be the person we are looking for.
2. She should not be the person we are looking for.
3. She is not be the person we are looking for.

4. She may not be the person we are looking for.

Correct Answer :-

« She may not be the person we are looking for.

4) Choose the option that is opposite in meaning to the word highlighted in the given sentence:

The layers coated on the transparent films do not form images.

1. thin

2. sheer
3. opaque
4, clear

Correct Answer :-

+ opaque

5) Choose the correct order of adjective from the options in the given sentence:
There was a in the centre of the room.

1. table wooden long dark

2. darkest long table wooden

3. long dark wooden table

4. wooden long dark table

Correct Answer :-

« long dark wooden table

6) Given below are four sentences from a passage not necessarily in the right order.

Put them in the correct sequence:



P. Following the country's independence from the British Empire, the Constitution of
India declared that one of the government's aims was the total prohibition of alcohol.

Q. Winemaking has existed throughout most of India's history but was particularly encouraged
during the time of the Portuguese and British colonization of the subcontinent.

R. Viticulture in India has a long history dating back to the time of the Indus Valley
Civilization when grapevines were believed to have been introduced from Persia.

S. The end of the 19th century saw the phylloxera louse take its toll on the Indian wine industry
followed by religious and public opinion moving towards the prohibition of alcohol.

1. RSQP
2. SQPR
3. PSQR
4. RQSP

Correct Answer :-

« RQSP

7) Choose the option that best shows the use of adverbial clause to connect the given sentence:
We need to clean up. Everyone has left the party.

1. Party is over we now should clean up.

2. We to need clean up since now the party is over.

3. Everyone now left the party we should have clean up.

4. Now that everyone has left the party, we need to clean up.

Correct Answer :-

« Now that everyone has left the party, we need to clean up.

8) Choose the appropriate tense of the verbs to complete the given sentence:
We wenton___ badminton tillwe __ that we could not play anymore.
1. playing, will feel

2. playing, felt

3. play, feel



4, will be playing, will feel

Correct Answer :-

« playing, felt

9) Select the correctly punctuated sentence:

1. I think; | read; | discuss, this, is how | try to understand a problem.
2. | think: I read, | discuss this is how | try to understand a problem.
3. I think, | read, | discuss; this is how | try to understand a problem.
4. | think, | read, | discuss, this is how: | try to understand a problem.

Correct Answer :-

« |think, | read, | discuss; this is how | try to understand a problem.

10) Choose the appropriate prepositional phrase for the given sentence:
lam to understand why he behaved in such a foolish manner.
1. with a loss

2.inaloss

3.ataloss

4. by a loss

Correct Answer :-

« ataloss

11) Choose the correct words to complete the sentence:

The bridesmaid the bride as she down the aisle with her father.
1. proceeded, preceded

2. proceeded, proceeded

3. preceded, proceeded

4. preceded, preceded

Correct Answer :-



o preceded, proceeded

12) Choose the option that best transforms the sentence into its other voice:
The Principal is punishing the boys who were making mischief.

1. Boys who are making mischief was being punished by the Principal.

2. The boys who made mischief is punished by the Principal.

3. The boys who were making mischief are being punished by the Principal.

4. The mischief boys is punished by the Principal.

Correct Answer :-

« The boys who were making mischief are being punished by the Principal.

13) Read the sentence carefully and choose the option that has an error in it:

The non-cooperative attitudes of the members can only deterioration the image of the company.
1. can only deterioration

2. of the members

3. the image of the company.

4. The non-cooperative attitudes

Correct Answer :-

« can only deterioration



In the first column are four sentences containing a common word which has been highlighted.
The sentences are numbered 1 to 4. In the next column are four different meanings of the
highlighted word, identified by the letters P, Q. K and 5. The options are different combinations
of these numbers and letters. Choose the one that has the usages and meanings correctly

matched.

1. The Ethiopian Olympian Abebe Bikila was | P.hunger strike
as fast as lightning_
2_Irom Sharmila has been on indefinite fast, | Q. closed firmlv
protesting against alleged excesses of the
army on civilians.

3. The interior decorator had assured that the | B._not fading with time
colour of the curtains was fast; he was right:
the colour ran!

4 Inside the warehouse, it was hot because S.moving at great speed
the shutters were fast.

1. 1-S; 2-R; 3-Q; 4-P
2. 1-P; 2-S; 3-R;4-Q
3. 1-P; 2-Q; 3-S;4-R
4. 1-S; 2-P; 3-R;4-Q
Correct Answer :-

. 1-S;2-P; 3-R;4-Q

Topic:- General Maths

1) CANCELLED

In the given figure, # CAB=90° and AD 1 BC. If AC=85 cm, AB=135m and BC=2.25m, then
AD=7
| feu arv O #, 2CAB=90° 3iR AD 1 BC #1 afg AC=85dH1 AB=135#" 3ik

BC=2.25dT§ ar AD=?

1. 61lcm /61 It



2. 67cm/67@'5ﬁ
3. 57cm / 57 TH!
4. 51cm/ 51 98T

Correct Answer :-

« 5lcm /51 JHt

2) If x + 2y =3 and 4x + 3y = 2, then find the value of x and y. /
e x + 2y =3Td 4x + 3y = 2§, 99 x UG y & HH JId BI |

1. x=1,y=2

2. x=—1,y=2

3. x=1,y=2

4. x=1, y=2

Correct Answer :-

3) If a, b and c are digits, then abc + bca + cab is divisible by: /
Tlﬁa, b GﬁTcW%?ﬁ abc + bca + cabmmﬁ‘lﬂ\_ﬂgz
1.22

2.37

3.99

4. 101

Correct Answer :-

4) If the degree measures of the angles of quadrilateral are 2x, 4x, 5x and 7x, then what is the
sum of the measures of the smallest angle and largest angle? /

gfe agus & HIvn &1 fE3 A1 2x, 4x, 5x 3R 7x B, T TG DI HIVT 3R I TS BV &
HTYY T TR T B2



1. 200°
5 140°
3. 160°
4. 180°

Correct Answer :-

. 180°

5) The sum of the digits of a two-digit number is 11. The number obtained by interchanging its
digits exceeds the given number by 27. Find the number. /

TS & BT T P 3b] BT AR 11 T1 TTP 3] B JAT-ael gRT YT T=AT, &1 TS
2T A 27 3 8 | =T J1d B |

1. 47
2. 56
3.38

4. 58

Correct Answer :-

6) The point which lies on the x-axis at a distance of 3 units in the negative direction of x-axis is:
/

g5 fdg I 3 SIS Bt g W x-31&l F BT fG=m A x-31ef W fRUA 3:
1. (0,-3)
2. (-3,0)
3.(3,0)

4.(0,3)

Correct Answer :-



Find the curved surface area of a right circular cylinder of height 35 cm and the base radius 6
cm. /

35 QT ST 3R 6 AT TR 3541 916 T TG g 9a o1 9 YS31T &A% [1d
P

1. 1230 em?/ 1230 HHR
2. 1320 em? / 1320 {HY
3. 1250 em?/ 1250 THE
4, 1200 cm?/ 1200 J#H2
Correct Answer :-

. 1320 em? / 1320 Q2

8) 2tands®
1+ tan®45°

1, sin90°
2. tan30°
3. tan90°

4, sind5°

Correct Answer :-

9) The common difference of the AP \.."rll *.,."rl?z \,."11& \,-"r_;"i _______ is: f
FAAT Avfr 412, 27, 48, 75, . T AT 3G

1. 3
2. w’rll
3. V2

4. V3

Correct Answer :-



10) There are 22 terms in an arithmetic sequence. The sum of the first and last terms is 94. Ifthe 11%
termis 45, then the 12® term is

wﬁmﬁﬁwwﬁzﬁ% gger 3R 31faa et & T 9481 T 117 ug 45
g 1Tag gem

1.49

2. 48

3.50

4.51

Correct Answer :-

. 49

11) The volume of a cuboid is 3600m’. Ifits length is 25m and its breadth and height are in theratio
4-1 respectively, then the total surface area of the cuboid is

Ush He18T T IRATT 3600m® 81 37 sadr aean 25 #iex 3R sadr 955 w 5=
T U HAA: 4:1 § T Gells & el JSEIT Xl HEL

1 1788 m? /1788 HE
5 1432 m?/1432 HR
3. 1825 m?/ 1825 HR
4 588 m?/588 HY

Correct Answer :-

1788 m? / 1788 HE

12) Inthe given figure, if line [ is parallel toline m, then find x. /
few o = &, 9 @ [ ¥ & @ om &, ar x Aa &1

30° X




13) If sinA=lsT and cosA = % . then cotA=7/
Tfe sinA% 3R cosA = E %. dar cotA=?

4 B

Correct Answer :-

14) SandT are the points on the sides PQ and PR respectively of a APQRE. [f P5=2cm, QS=E8cm,
PT=3cm, and RT=12cm, then QR= '

S 3R T. e APQR & AT PQEfITPREJEITBﬁ w fag &1 afgps=2 @+ Qs=s &=,
PT=3 Jeft IR RT=12 870 § @ QR=____

1.3ST

2.5ST

3.2ST

4. ST

Correct Answer :-

e 5ST



Topic:- General Logical Ability

1) In how many different ways can the letters of the word ‘DESIGN’ be arranged so that the
vowels are at the two ends? /

‘DESIG%’W%a&ﬁﬁmﬁmmﬁm@mmmmémaﬁﬁmﬁ
TR TR 81?2

1.56
2. 64
3.24
4.48

Correct Answer :-

. 48

2) A train 100 meters long moving at a speed of 40 km/hr crosses a train 130 meters long coming
from the opposite direction in 6 seconds. Find the speed of the second train? /

40 fopHt/deT B Ira | A v YenS! g g 100 Hiex 8, 3rvA faudia fazm @
3 a1t 130 Hiew At TH TSl 3t 6 b S § UR Bl 8 | gERt YS! St a1 [T Be?

1. 98 km/hr / 98 foHi/eaT
2. 90 kmv/hr / 90 forHI/EieT
3. 96 km/hr / 96 fapHI/deT
4. 94 km/hr / 94 foHil/EcT

Correct Answer :-

« 98 km/hr / 98 T HI/eT

3) Among five people with monthly income of Rs. 14000, Rs. 25000, Rs. 15000, Rs. 18000 and Rs
49000, how many will have income less than the mean income of the five people? /

14000 TUT, 25000 TYY, 15000 T, 18000 TTA 3N 49000 TUY B} AIRTS MY 9Tl YT AT
A A fra= &1 oma, ura) &1 3ied 3 A $H gl

1.1



2.3
3.2

4.4

Correct Answer :-

4) What percent profit is made by selling an article at a certain price if by selling at 2/3rd of that
price, there would be a loss of 30%? /

Ife ue a5 o1 3! fagE W fawa o3& 30% &1 g1 gl & O v g Flra w ST awg
& faspa W faq ufa=ra ey Rrear 82

1. 7%
2.4%
3.5%

4. 6%

Correct Answer :-
e 5%

5) If the middle digit of each of the following numbers is increased by 2 and the digits of each
number are written in reverse order, then which number will be the fourth when arranged in
descending order? /

236, 358, 478, 566, 843

gfe fRafafea o 3 vae W@ & 79 o | 2 31 gig 3t Y 3R Td® IBI & 3] i
I A A forar g, at 3raRId v & HafRId g9 TR SIH-91 HaR DY T UR R

236, 358, 478, 566, 843
1. 566
2.478
3.358

4. 236

Correct Answer :-

« 236



6) From a well-shuffled deck of 52 cards, one card is drawn at random. Find the probability of
getting a face card? /

33t g | We U 52 Ul aTel a11 DI Uh TST F, TP B Bl YTefadd U A FHwrar amar
21 BRI TS U B & GUTGHT Td P2

|I'-.J'

w
[—
[ ]

4 13

Correct Answer :-

7) A certain company has 120 employees who are engineers. Here, engineers constitute 30% of
its work force. How many people are employed in the company? /

v FAf3a sut § 120 FHAR & S goifaar €1 ast, SeifuRt & 30% eriad 1 78 gidar
2| U H fhds alv prdRd &2

1. 400
2.300
3. 500

4. 200

Correct Answer :-

« 400

8) Study the given arrangement carefully and answer the question.

Which of the following is the ninth to the right of the seventeenth from the right end of the below
arrangement?

M4ET%19IB@USON#WFIV7*2AH3Y586K



3 TS U HTRIT BT UTYAD T B 3R YUY HT AR G |

freafafEa w0 sgawn & <Ifte 8 O Tgd WM F 3 A id RIM R $IH 82
M4ET%19IB@USON#WFIV7*2AH3Y5$6K

1.U

2. A

3.Y

4. %

Correct Answer :-

- A

9) Find the mean proportional between 8 and 32. /
8 3R 32 & &t 3Nd STguTfa® F1d B |

1. 12

2. 14

3.13

4. 16

Correct Answer :-

10) Find a number whose 2% is 172. /
qE S I B FoI1 2%, 172 8
1. 8400
2. 8160
3. 8600

4. 8000

Correct Answer :-

« 8600



11) In a certain code, BELIEF is written as AFKKDI. How is SELDOM written in that code? /

Q?ﬁigféﬁraﬁts'ﬁ, BELIEF &1 AFKKDI foraT SIrdr 2 1 33t ®is A SELDOM &1 & forar
SIdT 82

1. RDCKNL
2. TFKENP
3. RFKFNP
4, RFKENM

Correct Answer :-

« RFKFNP

12) X can do a piece of work in 20 days, while Y can do in 10 days. If Y worked at it for 8 days,
then X can finish the remaining work in ./

XPH S TH TR B 20 RA TR IAgPdIe, FafP YIS 0 A A apargiafid v, 8
fa=ii a 1 FRaT 3, A X AT BT B o RT PR IHaT 3|

1.2 days / 2 f&=1
2.5days/5ﬁ7'ﬁ
3.3days/3ﬁ:ﬁ
4.4days/4ﬁ:ﬁ

Correct Answer :-

. 4days/4ﬁ:ﬁ

13) The ages of Gyanendra and Jitendra are in the ratio of 12:7 respectively. After 6 years, the ratio
of their ages will be 3:2 respectively. Find the difference in their ages. /

A% 3R fords T 3y FHRT: 12:7 F SJUTT A 81 6 TN & YT, STBT MY HT JUTd
SPUR: 3:2 TR D1 AT H 3R JTd Be |

1. 10 years/ loa'ﬁf
2. 48 years / 48 GL
3.36 years/366|13f

4. 24 years / 24 a9

Correct Answer :-



e 10vyears/ 10 GL

14) The digits from 0 to 9 are coded as shown below:
Digit | 3 8 0 T 4 6 9 2 A 1
Code | H s R A M % L K E S

What does ‘MHLEK%’ represent? /
sirer wefdla fhw aw 3R, 08 9% 3% 15 fhe av &

3% |3 g 0 7 4 5 9 2 5 1
= |H |S R |A |M [% |L K |E S

"MHLEK%' @471 &2i1ar &7
1. 439526
2. 439520
3. 436529

4. 894625

Correct Answer :-

e 439526

Topic:- General Science

1) Rithish took five rounds of a circular track of 300m length such that the
starting and the finishing line were the same. The total distance covered and the
displacement by Rithish are respectively: /

ffrer 7 300 ez Fir FaTS I MATHT & F T T ford, o wfsre i gwra war
ToT o Refter g o i T F 1 3% e waen: g

1. 10m and 1500m / 10 #f sfT 1500+
2.1500m and Om / 1500 ¥ =iz 0 9t
3.300m and 30m / 300 # 3fiz 30 #t
4. 30m and 300m / 30 ¥ 3= 300 T

Correct Answer :-

« 1500m and Om / 1500 #Y =iz 0 #Y



2) The unit of relative density is: /

qTYET T T SHTS 8.

1. no unit / ST HIE THTS Al Bl
2. kg/m / fopomn/t
3. kg/m? / TeRIT/AHT?

a. o/cm’ / AT

Correct Answer :-

e N0 unit / ST FIS THTS Al Bl

3) A better and more efficient use as well as availability of milk led to ./

%uaﬂmw%mu-muwawaﬁ?amumﬁm“ BT Aqgqd Hdl
|

1. White revolution / %?[ pifd
2. Black revolution / &Tcll Shifd
3. Blue revolution / HTdll hifd
4. Green revolution / I¥d shifd

Correct Answer :-

« White revolution / %ﬁ wifd

4) The life supporting zone of the Earth is called .

gt & sitae qude & #Y Fgd ol

1. Atmosphere / AIJHST
2. Biosphere / SqqUSd

3. Hydrosphere / SIcTHUS T
4, Lithosphere / RITHUS ]

Correct Answer :-

 Biosphere / SgHTSd



5) Lichens are a symbiotic association of o

A @EPT) DI Yo w3

1. bread mould and green algae / S Ales 3R Ei' ard
2. mushroom and green algae / HRI®H 3R B Qard

3. yeast and green algae / THR 3R @ ard

4, cyanobacteria and fungi / “v'l'lg:haa%htﬂ 3R Had

Correct Answer :-

« cyanobacteria and fungi / “v'l'lg:haa%htﬂ 3R Hadb

6) Which of the following reproduces from underground stem? /
Frafafaa § 3 o9 Yfra @ S = Sua giars?
1. Radish / Jail

2. Potato / 3T
3. Carrot / TR

4. Sweet potato / [PIDG

Correct Answer :-

« Potato / 3{Ic]

7) Which of the following modes of heat transfer is faster?/
frAfefEd # @ 19 ST iR &) gad a1 fafy g2
1. Radiation only / R fafaor

2. Conduction only / % =Tere

3. Convection only / fo Hag=

4. Both conduction and radiation / JTere 3% farf=reor 1=t

Correct Answer :-

 Radiation only / R fafeor

8) When white light is allowed to pass through the red glass plate, then the glass plate will: /



W Tbhg YD D dTd H1d DI We A Yok I AT & 91t 8, ot did Dt We:
1. Allow no colour to pass through it / $9& T1eny 3 et lﬁwaﬁﬂﬁﬁﬁ&lﬂﬂﬁﬁﬁgl

2. Allow only the red colour to pass through it / b HILTH Y Had drel 1 &l 3!!GR~3-| G| \}Iﬂj:lﬁf
ELIE

3. Allow all seven colours to pass through it / S W1HH I T A1d I ol !!quﬁ Gl Hﬂﬂﬁ adt
gl

4. Not allow the red colour to pass through it / Eﬂa? HIeTH ¥ o1 [T hl 3!!\_)‘R3| Pl 317:[141%[ el gt
&l

Correct Answer :-

« Allow only the red colour to pass through it / b HILTH Y Had drel S &l 3!!GR~3-| G| \}Iﬂj:lﬁf
ELIE

9) Some seeds have hooks and spines. It helps the seeds to .
TO divil & p 3R Bie g &1 98 el Y e  wae a7
1. escape from enemies / gszu:ﬁ SEEICE

2. attach to the parent body / {1 IRR I Feuar |

3, attach to the fur of other animals / 3= SIFIAR| &b @ﬁ I Iaudr |

4. prevent drying / J[Shdl I AHYE o

Correct Answer :-

« attach to the fur of other animals / 3/ SIFAR] & ﬂﬁ I IAudr |

10) The correct order of density of matter is: /
el & 9 FTHEI P §:
1. Water < cotton < honey < air < chalk / ST¢] < HUN < X[E¢G < §dl < Wiedl

2. Air < cotton < water < honey < chalk / dIg < U < o] < [gq < @%TIT
3. Air < water < honey < chalk< cotton / dIf < Gcf < R[eq < ST < HU™
4. Cotton < water < honey < chalk < Air / HURI < SId] < TG4 < Wil <diyg

Correct Answer :-

« Air < cotton < water < honey < chalk / dTJ < U < vi¢f < X[gq < @'%'QT



11) Identify the element which has the same number of neutrons and protons in its nucleus. /
N I I UgETe forads A1fie ® =ggii iR Wil &t sl a1 3|

LAI(Z=13& A=27)

2C(Z=6&A=14)

3.Mg(Z=12& A=24)

4 Na(Z=11&A=23)

Correct Answer :-

e Mg(Z=12& A=24)

12) Freeze-dried food products are produced using the phenomenon of: /

i ye-g@ @ SauTe 1 e o1 IuahT % Satfed frd o §:
1. Adsorption / STErRITEOT

2. Absorption / NERINY

3. Evaporation / dT&

4. Sublimation / SEUTA

Correct Answer :-

« Sublimation / 34U

13) The force required to produce an acceleration of 4 m/s? in an object of mass 9 kg is: /

9 ToheT I Sod#Te i U a&q | 4 |1/ U2 &1 @L0 IoTH Bl o 1 AT T gAIT:

1. 5N
2. 36N
3.9N
4. 4N

Correct Answer :-



14) A student was guided by his teacher to perform the following experiment. He took some iron
filings and sulphur powderin a mortar and crushed the mixture well. He took a little of the
mixture in a test tube and added dilute H2504 toit, and then a colourless and odourless gas was
liberated. Identifv the gas liberated. /

AFATAET T e & 60 Uah ST 1 370y RlaTeh qaRT Had fhar = or| 387
@l (HIER) A 21sT &g &1 gier 3R Teh ar3sy o 3R Eaor &1 3=t & o fea)
3eT U WREeall A ST fAH0T o 31K 369 a9 HaS04 STaT 1R O vah Tergier iR amer
(gl 3 Hard §51 HoFd I &1 ggHE A |

1. HI
2 HzS
3. SD_‘-

4. SD}

Correct Answer :-

Topic:- General Computer

1) CANCELLED

In MS Excel 2007, Print Tiles will be located in which of the following tabs? /
T U 2007 ¥, fiie erged feafafeaa o 9@ few o 4 fRua g

1. Layout tab / d3M3eT o

2. Insert tab /_sfﬂ_cc %_d

3. View tab / a{%_d

4, Page Layout tab / U A3M3e ¢q

Correct Answer :-

« Page Layout tab / U A3M3e ¢q

2) Which of the following options is not present in MS Word 2010? /
fFrafafaa o @ o9 a1 faeer Ty 73 2010 ® divyg T8 82
1. Sort / I



2. Magic tool / m@
3. Clip art / faa0 3
4. Font / BT

Correct Answer :-

« Magic tool / Afrw cd

3) What kind of material does ‘IC’ in computers made of? /
el # el fryg ave ot anrh st 82

1. Aluminium / TegHI=—GH

2. Vibranium / Tﬂ%aﬁ'qtf

3. Silicon / fYfefeIT

4. Gallium/ AfeH

Correct Answer :-

« Silicon / Rferpia

4) In MS Word 2010, on which side will the rulers appear in the screen? /
THEY T8 2010 H, fF A58 IR P19 # TR fears it

1. Top and Right / $HUR 3R [y

2. Top and Bottom / \$HUR AR AR

3. Left and Top /EITQ ﬁTW

4. Left and Bottom / EITQ GﬁT EiE]

Correct Answer :-

« Left and Top / §TY IRTW

5) In MS Word 2010, a paragraph gets selected by clicking how many times on the mouse? /

THUH T€ 2010 §, AISY B fhd-t IR fFae Hvd T R Adde faar ST 82
1. Once / Gch dlR



2. We cannot select whole paragraph in MS Word / THUY CEE:] @ TRIIT% $I Helde gl fobdl S
T g

3. Twice /E(Pf dR
4. Thrice / dF IR

Correct Answer :-

« Thrice /dF SR

6) In MS Word 2010, what is the function performed by the AutoCorrect? /
THTH TS 2010 H, 3TeIhyde §RT T H1I BT ST 32

1. It automatically corrects a given sentence. /

g fau T U 9T Y 31U 31T Tt R ST B |
2. It gives different word having same meaning. /
I8 AT 31 aTet el G 1 elTall 8|
3. It gives correct sentence. / g ﬂé)f dIed a_cﬂ %I
4, It corrects misspelled words. / g Tcld IS Bl ﬂ_ﬁ& DY a_dT % |

Correct Answer :-

o It corrects misspelled words. / g Tcld TS DI ﬂ_ﬁ& P Sl % |

7) In MS Word 2010, the ‘Format Painter’ can be used for which of the following options? /
THTH 78 2010 H, Frafafed # 4 fo fdwen § wide dex &1 ISuahT f&ar & w@ar g2
1. Paint / Uc

2. Graphics / Tt

3. Text / CRE

4. Images / gﬂ\—ﬂ

Correct Answer :-

. Text/CRT

8) In MS Word 2010, which of the following options will not be present in ‘Clipborad’? /



THTH 8 2010 §, Fafifed faed 7 9 o1 a1 feauars: § Higg =81 g
1. Paste / URC

2. Copy / IUl

3. Redo / TG

4. Cut/hc

Correct Answer :-

. Redo/ﬂ?i

9) In MS Excel 2007, we use the in order to freeze the row only. /

THEY TR 2007 §, 8H P Pad Ufed Wil B & U sTHTd B &
1. Insert tab/gﬂé%_d
2. Review tab/ﬁal%a'

3. Design tab / IEGH%:I e
4. View tab / GEL%H

Correct Answer :-

+ View tab / GEL%H

10) In MS Excel 2007, option will allow you to delete, edit, or add new conditional
formatting rules. /

THUY TR 2007 H, fIPeu Su®! AT BIHTET T B g, Jurfed
B YT IS Dt Al S|

1. New Rules / F =
2. Manage Rules / S T

3. Clear Rules / TR ¢
4. None of the above / E:Iff ) ﬁé qé)[

Correct Answer :-

« Manage Rules / Y g



In MS Excel 2010, the shortcut key to display Save As dialogue box is: /

THTH TR 2010 §, V9 TH ST S1e &1 UgRid $31 & fore widee Foil 8:
1. F10

2. Ctrl+S

3.F12

4, Alt+F12

Correct Answer :-

e FI2

12) In MS Excel 2007, Themes button will be availablein___ ./
THUY TRa 2007 §, fiudeqd  # Suasl ghm|

1. Insert tab / gﬂé %a

2. Review tab / ﬁﬁqﬁa

3. Home tab /@ﬂ |

4. Page Layout tab / U A3M3e ¢d

Correct Answer :-

» Page Layout tab / U A3M3e ¢d

13) Operating system is type of software. /
STRfeT Reew A AR BT YHR g
1. system / ey

2. application / Q’Tﬂa'TQF[

3. volatile / ATICTSS
4. processing / R

Correct Answer :-

. system / RIeHq



In any MS Office 2007, which of the following options is use to retain the original format of the
item selected? /

ot Wit wHEw Sifthw 2007 #, fAfeRad § A 5 faweu &1 sxawa 9ufa smeeca &
d YRS &I g9T¢ 7@ & forg fovan wiran 82

1. Keep Text Only / DI CRe ATAeh

2. Keep Source Formatting / Piu IRf wiffen

3. Set Default Paste / 9¢ fShiee U

4. Match Destination Formatting / T ST BT

Correct Answer :-

« Keep Source Formatting / &0 T ®Hfn



